Sydostra Sveriges BF
Olandsveckan - Kval - omgang 1 2011-06-27

Partavling, 46 bord, 92 par. Antal brickor: 30. Medel: 1350.0.

Plac Par

1 11
2 2
3 3
4 270
5 167
6 16
6 201
8 170
9 112
10 75
11 203
12 5
13 272
14 115

16 12
17 268
18 208
19 274
20 110
21 105
22 114
23 102
24 77
25 267
26 172
27 209
28 279
28 280

31 101
32 13
33 173
34 68
35 73

37 169
38 166

39 175
a1 72
42 269
43 74

45 204
46 176
47 168
48 171
49 76
50 178
51 177
52 266

74 180

76 277
77 211
78 80
78 104
80 212
81 202
82 276
83 174

85 106

Poang

1707
1655
1654
1612
1604
1596
1596
1584
1583
1577
1572
1568
1566
1564
1561
1555
1550
1531
1513
1512
1511
1496
1492
1487
1483
1479
1475
1474
1474
1467
1466
1464
1463
1454
1450
1443
1438
1419
1406
1406
1392
1380
1375
1368
1364
1353
1338
1337
1331
1325
1320
1318
1314
1313
1311
1310
1309
1308
1289
1284
1282
1266
1247
1243
1232
1227
1224
1221
1219
1219
1212
1211
1208
1200
1199
1193
1188
1180
1180
1179
1162
1157
1154
1118
1064

%

63.22
61.30
61.26
59.70
59.41
59.11
59.11
58.67
58.63
58.41
58.22
58.07
58.00
57.93
57.81
57.59
57.41
56.70
56.04
56.00
55.96
55.41
55.26
55.07
54.93
54.78
54.63
54.59
54.59
54.33
54.30
54.22
54.19
53.85
53.70
53.44
53.26
52.56
52.07
52.07
51.56
51.11
50.93
50.67
50.52
50.11
49.56
49.52
49.30
49.07
48.89
48.81
48.67
48.63
48.56
48.52
48.48
48.44
47.74
47.56
47.48
46.89
46.19
46.04
45.63
45.44
45.33
45.22
45.15
45.15
44.89
44.85
44.74
44.44
44.41
44.19
44.00
43.70
43.70
43.67
43.04
42.85
42.74
41.41
39.41

Namn

Marianne Silwer - Lars Stenlund
Daniel Gullberg - Simon Ekenberg
Pierre Carbonnier - Thomas Winther
Lars Kennethsson - Arne Blomqvist
Karl Persson - Eva Wetterhall

Hauke de Vries - Peter Olofsson

Mats Holm - Klas Bellander

Anders Blomgvist - Sten-Sture Gillestrém
Johan Isaksson - Dan Mikael N&slund
Peter Tornblom - Peter Flodqvist
Johan Karlsson - William Hernebrink
Ric Sallsten - Bengt Pettersson

Lars Manneteg - Carmen Tuason
Simon Hult - Markus Hedstrom

Marie Johansson - Henrik Sallberg
Wiveca Jongeneel - Jos Winkelman
Janne Balldin - Lenny Jansen

Kent Fritsson - Peter Svensson

Hans Pettersson - UIf Rosén

Staffan Hallberg - Bernt Sigvardsson
Morgan Svensson - Johan Arvidsson
Bengt-Olof Johansson - Sune Lobo
Ake Falkunge - Michael Jungstedt
Jan-Ake Ohlsson - Kjell-Ake Nilsson
Bjorn Ohlsson - Ingemar Andersson
Henrik Laursen - Michael Soetmann
Olle Mahlgren - Lennart Pettersson
Tommy Eneqyist - Yvonne Flodqvist
Douglas von Krusenstierna - Goran Lindgren
Renée Sundstrém - Dan Sundstrom
Ola Stavas - Goran Lindberg

Rolf Glyssner - Osten Svantesson
Johan Wabhlberg - Johan Nilsson

Bo Falk - Gun-Britt Rindstal

Kenneth Raun - Per Hult

Tomas Ekholm - Andreas Enblom
Evert Bengtsson - Birgitta Bengtsson
Tony Lindblom - Dag Johansson

Jan Ottosson - Monica Johanson
Lennart Karlberg - Jan-Olof Hegethorn
Kjell Jansson - Lars Ohlsson

Lars Moquist - Claes Lindh

Stefan Budin - Tin Budin

Gun Karlsson - Lennart Karlsson
Margareta Walldin - Ulla Molin

Tomas Karlsson - Roger EIf

Anders Nero - Stefan Lilja

Susanne Hammar - Ingegérd Andersson
Lars Engebeck - Stig Magnusson
Sven-Olov Flodqyvist - Christer Winther
Solveig Astrém - Anne Kleredal

Tord Ericsson - Anders Carlsson

Inger Séllsten - Sofia Ryman

Goran Emvall - Kenneth Johansson
Greger Alfonsson - Christer Johansson
Rolf Ahlfeldt - Elisabeth Eriksson
Andreas Kényves - Kim Lichtenstein
Berith Abrahamsson - John-Erik Hornfeldt
Hilding Rune - Jan Molin

Mile Calic - Ulla Liedholm

Benny Karlsson - Bengt Nilsson
Anette Ekman - Denny Abrahamsson
Gunnar Gustafsson - Kristina Gustafsson
Jan-Erik Enberg - Mats Gunnarsson
Maria Paulsson - Jan Klaavuniemi
Johan Claesson - Bo Suné

Anette Svenningsson - Ulla Ridderstad
Rosemarie Fried - Berndt Lundgren
Peter Akesson - Peter Moricz

Ingegérd Nilsson - Sissi Kristoffersson
David Bryder - Martti Bryder

P-E Fahlstrom - UIf Kinn

Peter Hakansson - Anders Arnesson
Krister Arnesson - Glenn Nilsson
Johan Hemer - Gerd Hemer

Leif Eriksson - Ulla Lindberg

Ylva Johansson - Elisabeth Stanley
Ann-Kristin Hultgren - Henry Alfredsson
Cecilia von Scheven - Gunilla Fredriksson
Valdimar Gudmundsson - Margret Vidarsdottir
Solveig Engdahl - Ingrid Linnarsson
Goran Akerstrom - Svante Ostergren
Jan Sjostrom - Michael Carlsson

Ellert Nord - Ingrid Nord

Klaus Wilde - Karin Wilde

MID

12965
37167
5538
17074
2872

4537
2823
87278
2265
32229
12585
2944
36107
17265
495
14893
664
6215
871
18030
9025
5957
5648

4471
2243
8636
8514
1134
12502
23539
725
24863
81508
24224
21037
13368
2185
12268
9743
11046
1201
1907
9651
9470
1253
3130
9027
7764
915
8642
80288
627
1184
4590
15003
8743
17900
86263
8987
88519
51537
30866
21587
10269
34469
93876
11872
3176
25919
2403
8135
17105
8
11744
19069
92446
42067
82647
29275
15278
1527
12706

5960
41685
3522
7005
2815
5771
4541
6066
13192
14778
41017
14219
89810
87082
29785

619
32698
628
12298
9428
9100
6427
5871

5706
14805
6780
12742
4339
5765
13918
7974
13220
81510
24225
88495
10270
12033
2795
21588
11043
1196
8819
90863
20858
2813
9669
4583
19349
24329
78200
793
635
1407
11826
4866
8664
4886
1142
23656
35673
17575
25839
21586
25973
17075
25801
24336

8821
81743
977
17104
49822
8807
17429
15240
42066
23525
730
88532
1528
12748

Klubb

Skurups BS - BK Lavec

BK S:t Erik - Lilla Séllskapet
LUCK - Solvesborgs BK
Anderstorps BK

BK S:t Erik

Sélvesborgs BK

BK S:t Gertrud - Videdals BK
Upsala BS

Hovmantorps BK

Malungs BK - BK S:t Erik
Hallefors BK - Filbyter Bridge
BK S:t Erik

Upsala BS - BK S:t Erik

Lilla Sallskapet - Skévde BA
Karlshamns BK

Lunds BK

Emmaboda BK - Ryds BK
Kalmarsunds BK

Lilla Séllskapet - IFK Karlskrona
Hovmantorps BK

Anderstorps BK

BK S:t Erik

Ystads BS - Skurups BS
Sélvesborgs BK

Solvesborgs BK - BK Axet

Tyreso BK - BK S:t Erik
Katrineholms BA - Norrkdpingsbridgen
Stigtomta BK

BK S:t Erik - LUCK

Ruterklubben i Umed - Videdals BK
BK S:t Erik )
Oskarshamns BK - Overums BK
BK S:t Erik

BK S:t Erik

Kalmarsunds BK

Kisa BS

BK Opalen

BK S:t Erik

Enkdpings BS - Sigtuna BS
Kalmarsunds BK - Lilla Sallskapet
Stanga BK

Filbyter Bridge

BK Tva Ess - BK Stjarnskotten
Alvesta BK

Vaggeryds BK - BK Opalen
Stigtomta BK

Lilla Sallskapet

LUCK

Vasbybridgen - Sigtuna BS
Vaxjobridgen - Grimslévs BK

BK S:t Erik

Grimslévs BK - Ryds BK
Emmaboda BK - Karlshamns BK
Vasterviks BK

LUCK - BK S:t Erik

Karlstads BK - BK Everfresh

BK Tva Ess - BK Stjarnskotten
Partille BK - BK Everfresh
Emmaboda BK - Grimslévs BK

BK S:t Erik - Arla BK

Flens BS

Varnamo BK - Hultsfred/Malilla BK
Solvesborgs BK

Lilla Sallskapet

Vaggeryds BK - BK Opalen
Bridgekamraterna Nybro

Lilla Sallskapet - Lunds BK
Séllskapet, Ronneby - Ostra Blekinge Bridgeallians
LUCK

BK Fyra Klgver Borgholm - BK Tva Ess
Grimslovs BK

Grimslévs BK

Norrkopingsbridgen

Folkare BK - Nykopings BS
Enkdpings BS - ABB BK
Svenljunga BK - BK Opalen

BK S:t Erik

BK Opalen

BK S:t Erik

Lilla Sallskapet - Bridgekamraterna Nybro
Oskarshamns BK

Flens BS

Oskarshamns BK
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86 107 1060 39.26 Monica Cederberg - Bengt Larsson 32769 19982 Lunds BK
87 70 990 36.67 Mari-Ann Stenberg - Jan Fondelius 11239 7219 BK Opalen
88 278 968 35.85 Irene Rune - Sigbrit Norenvik 85381 27908 BK Tva Ess
89 108 966 35.78 Bjorn Ekholm - Katarina Dufva - 36337 Malart BS
90 67 939 34.78 Eberhard Growitz - Ulrika Growitz 41606 41593 Emmaboda BK
91 1 936 34.67 Hans Bystrom - Lilian Bystrom 84400 84401 Ulricehamns BS
92 14 810 30.00 Viola Djerf- Ulla Karlsson 34942 990 BK Fyra Klover Borgholm
1 «E9 2 « KDKn96 3 41063
Nord v 764 Ost v 8762 Syd v9
Ingen + D108742 NS *4 ov + D965
&D2 #952 #KD1092
2 D643 #Kn1082 4752 » E83 a4 & K7
vE83 vKKn109 vD1043 vE5 v EKNn1072 v KD854
¢+ KKn5 463 *7 + EKD1085 442 + EK1083
#1073 #EK5 #EK1064 #D8 #E7643 *Kn
& K75 104 « EDKn9852
v D52 v KKn9 v 63
¢ E9 ¢ Kn9632 ¢ Kn7
#Kn9864 #Kn73 #85
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
173 112 3NDV-4 +8 800 90.0 0.0|275 208 6NV-3 4K 150 90.0 0.0 5 78 44 S+1 44 450 90.0 0.0
74 7 34DN= #A 470 88.0 20| 11 70 6NV-2 &K 100 86.0 40| 69 14 34 S= »5 140 88.0 20
11 70 44 V-2 &Q 100 82.0 8.0|102 104 6NV-2 &K 100 86.0 40| 16 67 44 N-1 ¢4 -50 86.0 4.0
67 14 2NV-2 7 100 82.0 8.0(204 279 64 O-2 4T 100 86.0 40| 72 11 44 S-2 ¢4 -100 80.0 10.0
170 115 3NV-2 ¢4 100 82.0 8.0|111 174 64 O-1 T 50 82.0 8.0|167 114 44 S-2 vA -100 80.0 10.0
269 214 44 V-2 &Q 100 82.0 8.0| 80 1 3¢ O+1 T -130 79.0 11.0|175 106 44 S-2 ¢4 -100 80.0 10.0
270 213 44 V-2 &Q 100 82.0 8.0(205 278 3¢ O+1 &T -130 79.0 11.0(176 105 44 S-2 vA -100 80.0 10.0
3 78 34V-1 46 50 65.0 25.0|272 211 3¢ O+2 T -150 75.0 15.0|278 207 34DS-1 ¢4 -100 80.0 10.0
15 66 34 V-1 7 50 65.0 25.0(280 202 INO+2 &T -150 75.0 150| 75 8 44 S-3 ¢4 -150 74.0 16.0
76 5 3a4V-1 ¢4 50 65.0 25.0( 67 14 2NO+2 &K -180 72.0 180| 68 15 44DS-2 vA -300 72.0 18.0
80 1 3v0-1 <A 50 65.0 25.0 4 77 3NO= aT -400 70.0 20.0|180 101 54DS-3 +4 -500 69.0 21.0
169 166 24 V-1  ¢7 50 65.0 25.0 9 72 3NO+1 &3 -430 50.0 40.0|202 204 44DS-3 ¢4 -500 69.0 21.0
175 110 24 V-1  #Q 50 65.0 25.0( 71 10 3NO+1 T -430 50.0 40.0|169 112 3NO= A A -600 66.0 24.0
180 103 34 O-1 +A 50 65.0 25.0| 74 7 3NO+1 T -430 50.0 40.0|211 274 4y V+1 43 -650 62.0 28.0
204 279 34 V-1 &Q 50 65.0 25.0| 76 5 3NO+1 T -430 50.0 40.0|213 272 4y V+1 43 -650 62.0 28.0
205 278 34 V-1 &Q 50 65.0 25.0( 79 2 3NO+1 #4 -430 50.0 40.0 280 203 5v V= 43 -650 62.0 28.0
272 211 34 V-1 ¢4 50 65.0 25.0(105 101 3NO+1 4T -430 50.0 40.0 1 3 4v 0+2 &A -680 42.0 48.0
277 206 34 V-1 w7 50 65.0 25.0(106 179 3NV +1 &K -430 50.0 40.0 4 79 4v O+2 &8 -680 42.0 48.0
280 202 34 V-1 ¢4 50 65.0 25.0(113 172 3NO+1 T -430 50.0 400 10 73 4y O+2 &A -680 42.0 48.0
176 109 3#S-1 vA -50 52.0 38.0|167 168 3NO+1 T -430 50.0 40.0| 12 71 4vy O+2 43 -680 42.0 48.0
212 271 2¢ N-2 &A -100 50.0 40.0(169 166 3NO+1 &T -430 50.0 40.0| 66 65 5v V+1 &T -680 42.0 48.0
105 101 24 O= *6 -110 47.0 43.0(173 112 3NO+1 T -430 50.0 400 74 9 5v O+1 &A -680 42.0 48.0
274 209 24 V= *Q -110 47.0 43.0(175 110 3NO+1 &T -430 50.0 400 76 7 5vV+l &K -680 42.0 48.0
9 72 3aV= *7 -140 30.0 60.0(178 107 3NO+1 &T -430 50.0 40.0 109 172 5y V+1 43 -680 42.0 48.0
68 13 24 V+1 #Q -140 30.0 60.0(201 203 3NO+1 4T -430 50.0 40.0 (111 170 5v V+1 &K -680 42.0 48.0
69 12 24 V+1 o7 -140 30.0 60.0 (210 273 3NO+1 &T -430 50.0 40.0 (115 166 5v V+1 &K -680 42.0 48.0
71 10 2v O+1 <A -140 30.0 60.0 (212 271 3NO+1 &T -430 50.0 40.0|168 113 4y V+2 46 -680 42.0 48.0
73 8 24 V+1l v4 -140 30.0 60.0(269 214 3NV+1 4K -430 50.0 40.0 (171 110 4y V+2 T -680 42.0 48.0
75 6 24 V+1 8 -140 30.0 60.0 (270 213 3NO+1 &T -430 50.0 40.0(173 108 5v O+1 &A -680 42.0 48.0
79 2 24 V+1 aA -140 30.0 60.0 (276 207 3NV +1 &K -430 50.0 40.0(179 102 5v V+1 &T -680 42.0 48.0
102 104 24 V+1 8 -140 30.0 60.0 3 78 3NO+2 T -460 23.0 67.0(269 266 4y V+2 43 -680 42.0 48.0
106 179 24 O+1 ¢4 -140 30.0 60.0| 15 66 3NO+2 +¢3 -460 23.0 67.0(275 210 4v O+2 &A -680 42.0 48.0
111 174 34 V= v4 -140 30.0 60.0( 68 13 3NO+2 &T -460 23.0 67.0(277 208 5v V+1 &K -680 42.0 48.0
171 114 24 V+1 ¢4 -140 30.0 60.0(176 109 3NO+2 6 -460 23.0 67.0(205 201 5v O+2 K -710 21.0 69.0
178 107 24 V+1 ¢8 -140 30.0 60.0 177 108 3NO+2 vJ -460 23.0 67.0|206 279 4y O+3 42 -710 21.0 69.0
201 203 24 V+1 38 -140 30.0 60.0 (180 103 3NO+2 4T -460 23.0 67.0(270 215 5v V+2 &K -710 21.0 69.0
210 273 24 V+1 &A -140 30.0 60.0(268 215 3NO+2 #T -460 23.0 67.0(273 212 5v V+2 &K -710 21.0 69.0
268 215 24 V+1 ¢2 -140 30.0 60.0 (274 209 3NO+2 &T -460 23.0 67.0(174 107 54DS-4 vA -800 16.0 74.0
4 77 34V+1l v4 -170 9.0 81.0| 65 16 3NO+3 +¢3 -490 8.0 82.0(103 178 5vDV+1 #K -1050 14.0 76.0
113 172 34 V+1 7 -170 9.0 81.0( 69 12 3NO+3 3 -490 8.0 820| 70 13 6vyO= 4A -1430 6.0 84.0
167 168 24 V+2 7 -170 9.0 810 73 8 3NO+3 +¢3 -490 8.0 820| 77 6 6y O= aA -1430 6.0 84.0
177 108 34 O+1 +A -170 9.0 81.0|170 115 3NO+3 +¢2 -490 8.0 820| 80 2 6vyO= 4A -1430 6.0 84.0
266 267 24 V42 7 -170 9.0 81.0(171 114 3NO+3 3 -490 8.0 82.0|104 177 6v O = 4A -1430 6.0 84.0
276 207 24 V+2 w7 -170 9.0 81.0|266 267 3NO+3 +¢6 -490 8.0 82.0|267 268 6v V= 43 -1430 6.0 84.0
65 16 4e4 V= v7 -420 1.0 89.0|277 206 3ANO+3 ¢3 -490 8.0 82.0(271 214 6v V= 43 -1430 6.0 84.0
275 208 44 V= *Q 420 10 890| 75 6 640= aT -920 0.0 90.0 (276 209 6v V= 43 -1430 6.0 84.0
4  Kn832 5 +E 6 « EKKNn63
Vast v EKD43 Nord v D109 Ost v Kn64
Alla ¢ 107 NS + E106 ov ¢ 87
&E4 #ED8642 #1095
497 « KD1054 49854 4106 4752 « D108
vKnl105 v92 v 84 v EKn53 v K8 vED973
+ KD3 + Kn85 ¢ K943 ¢ 752 ¢ EKn1052 ¢ 964
#KDKn52 #986 #Knl103 #K975 #EKn6 *K8
«E6 « KDKn732 494
v 876 v K762 v 1052
¢ E9642 + DKn8 + KD3
#1073 »- &D7432
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
273 212 2NDV-4 vA 1100 90.0 0.0 2 4 6NN= ¢2 1440 88.0 2.0[169 114 4v O-1 49 100 89.0 1.0
68 15 4y N= *9 620 88.0 2.0|176 107 6NN = ¢7 1440 88.0 2.0(175 108 4v O-1 9 100 89.0 1.0
173 108 3NN = a5 600 86.0 4.0|279 202 6NN = 4T 1440 880 20| 13 72 3¢ O= aA -110 77.0 13.0
168 113 34 O-3 ¢8 300 830 7.0| 65 68 64 S= v8 1430 840 6.0 69 16 3¢ V= s A -110 77.0 13.0
174 107 2NV-3 ¢K 300 830 7.0 5 1 3NN+3 v5 690 78.0 12.0| 70 15 3¢ V= aA -110 77.0 13.0
16 67 3y N+1 &6 170 780 120| 11 74 3NS+3 +8 690 78.0 12.0| 71 14 2¢ V+1 &K -110 77.0 13.0
175 106 2v N+2 ¢9 170 78.0 12.0|180 102 3NN+3 3 690 78.0 12.0| 75 10 3¢ V= & K -110 77.0 13.0
269 266 2y N+2 &9 170 78.0 12.0|209 272 3NS+3 8 690 78.0 12.0|101 103 3¢ V= s A -110 77.0 13.0
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270 215 2vy N+1 &K 140 74.0 16.0|269 212 3NN+3 5 690 78.0 12.0(105 178 3¢ V= aA -110 77.0 13.0
1 3 1lvN+1 &K 110 55.0 35.0 6 79 44 S+2  ¢3 680 62.0 28.0|176 107 3¢ O= aA -110 77.0 13.0
12 71 2v N= +5 110 55.0 35.0| 70 15 44 S+2 38 680 62.0 28.0|203 278 3¢ V= s A -110 77.0 13.0
66 65 2v N= *9 110 55.0 35.0| 71 14 44 S+2 ¢9 680 62.0 28.0|274 207 3¢ V= s A -110 77.0 13.0
74 9 2v N= oK 110 55.0 35.0| 73 12 44 S+2 v8 680 62.0 28.0 110 173 INV+1l 46 -120 66.0 24.0
75 8 2v N= LY 110 55.0 35.0| 78 7 44 S+2 v8 680 62.0 28.0 5 1 3v0= 49 -140 55.0 35.0
77 6 2v N= aA 110 55.0 35.0| 80 3 44 S+2 v8 680 62.0 28.0 6 79 2v O+1 49 -140 55.0 35.0
80 2 2v N= oK 110 55.0 35.0(169 114 44 S+2 8 680 62.0 28.0| 11 74 2v O+1 49 -140 55.0 35.0

103 178 2v N= *6 110 55.0 35.0|177 106 44 S+2 8 680 62.0 28.0( 73 12 2v O+1 &9 -140 55.0 35.0

104 177 2v N= «Q 110 55.0 35.0|204 277 54 S+1 8 680 62.0 28.0| 78 7 3v0O= 49 -140 55.0 35.0

109 172 2v N= K 110 55.0 35.0|274 207 44 S+2 8 680 62.0 28.0 112 171 2v O+1 49 -140 55.0 35.0

111 170 2y N= 4K 110 55.0 35.0|276 205 4v S+2 & 680 62.0 28.0(172 111 3v O = 49 -140 55.0 35.0

167 114 2v N= 4K 110 55.0 35.0| 76 9 3NN+2 v4 660 41.0 49.0|174 109 2v O+1 49 -140 55.0 35.0

171 110 2v N= «Q 110 55.0 35.0| 77 8 3NN+2 ¢3 660 41.0 49.0|177 106 2y O+1 49 -140 55.0 35.0

206 279 2y N= 4K 110 55.0 35.0|104 179 3NN+2 3 660 41.0 49.0 (204 277 2v O+1 49 -140 55.0 35.0

267 268 2v N= 4K 110 55.0 35.0{170 113 3NN+2 2 660 41.0 49.0|215 266 3¢ V+2 &A -150 44.0 46.0

275 210 2v N= *9 110 55.0 35.0(174 109 3NN+2 5 660 41.0 49.0|267 214 3y O+1 &2 -170 41.0 49.0

277 208 2v N= «9 110 55.0 35.0175 108 3NN+2 3 660 41.0 49.0|276 205 2v O+2 #4 -170  41.0 49.0

278 207 2v N= «9 110 55.0 35.0{203 278 3NN+2 «T 660 41.0 49.0|104 179 3NO= &2 -600 32.0 58.0
4 79 24 0-1 v6 100 35.0 55.0(267 214 3NN+2 «T 660 41.0 49.0|168 115 3NO = 49 -600 32.0 58.0

280 203 24 O-1 &3 100 35.0 55.0(275 206 3NS+2 &2 660 41.0 49.0|180 102 3NO= 49 -600 32.0 58.0

271 214 24 S= &K 90 32.0 58.0{280 201 3NN+2 3 660 41.0 49.0|209 272 3NO= 49 -600 32.0 58.0
5 78 3v N-1 &8 -100 180 72.0| 13 72 4vy N+1 ¢4 650 20.0 70.0 (211 270 3NV = &T -600 32.0 58.0
10 73 3v N-1 &K -100 180 72.0| 69 16 44 S+1 ¢5 650 20.0 70.0(268 213 3NO= 49 -600 32.0 58.0
69 14 3vy N-1 &K -100 180 72.0| 75 10 44 N+1 &4 650 20.0 70.0(275 206 3N O = &2 -600 32.0 58.0
70 13 3vy N-1 &6 -100 18.0 72.0|105 178 44 S+1 ¢4 650 20.0 70.0 (271 210 4v O = v2 -620 24.0 66.0
72 11 3v N-1 &6 -100 18.0 72.0|110 173 44 S+1 &4 650 20.0 70.0 2 4 3NO+1 &2 -630 13.0 77.0
76 7 3y N-1 &8 -100 18.0 72.0|112 171 44 S+1 ¢3 650 20.0 70.0| 67 66 3NO+1 49 -630 13.0 77.0

115 166 4v N-1 &K -100 18.0 72.0|166 167 44 S+1 ¢3 650 20.0 70.0| 76 9 3NO+1 49 -630 13.0 77.0

176 105 3v N-1 &K -100 18.0 72.0|172 111 44 N+1 ¢4 650 20.0 70.0| 77 8 3NV +1 &A -630 13.0 77.0

179 102 3v N-1 &6 -100 18.0 72.0|211 270 44 S+1 ¢4 650 20.0 70.0| 80 3 3NO+1 &2 -630 13.0 77.0

180 101 2v N-1 &6 -100 18.0 72.0|268 213 44 S+1 ¢3 650 20.0 70.0|166 167 3NO+1 49 -630 13.0 77.0

202 204 3v N-1 8 -100 18.0 72.0|271 210 44 S+1 ¢4 650 20.0 70.0(170 113 3NV +1 4A -630 13.0 77.0

205 201 3vy N-1 &6 -100 18.0 72.0|168 115 3NS+1 ¢4 630 6.0 84.0|269 212 3NO+1 &2 -630 13.0 77.0

211 274 3v N-1 &K -100 18.0 72.0|215 266 3NN+1 ¢3 630 6.0 84.0(279 202 3NO+1 &2 -630 13.0 77.0

169 112 3v N-2 &6 -200 2.0 88.0|273 208 3NN+1 3 630 6.0 84.0|280 201 3NV +1 &A -630 13.0 77.0

213 272 4v N-2 &K -200 2.0 88.0(101 103 3NN= .7 600 20 88.0| 65 68 3NO+2 &3 -660 2.0 88.0

276 209 3v N-2 &K -200 2.0 880| 67 66 3NS-1 ¢3 -100 0.0 90.0 (273 208 3NV +3 &T -690 0.0 90.0

7 & K94 8 410542 9 4952

Syd vEKn104 Vast v Kn10987 Nord v 10532

Alla 4862 Ingen + E1086 ov ¢ KKn7

#DKn10 &»- #KDKn
82 4 D10653 4E97 aKD63 4 K6 4 D7
v 963 v K82 vED32 vK v D974 v EKKn6
¢ KKn74 ¢ D93 ¢KD95 ¢72 ¢ ED1062 93
K983 476 »E6 #987432 *96 #E10852
& EKn7 & Kn8 « EKn10843
v D75 v 654 v8
¢ E105 ¢+ Kn43 + 854
&»E542 #KDKn105 #743
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 5 3NS+1 &3 630 740 16.0| 68 67 3NV-2 vJ] 100 85.0 5.0(112 175 4v O-3 4A 300 88.0 20
7 1 3NS+1 «8 630 74.0 16.0 114 177 44 O-2 &K 100 85.0 5.0(170 167 4vy O-3 2 300 88.0 2.0

68 67 3NS+1 43 630 74.0 16.0(178 113 3NV -2 vJ] 100 85.0 5.0(266 275 4v O-3 #4A 300 88.0 20
71 16 3NS+1 8 630 74.0 16.0|201 209 44 O-2 &K 100 85.0 50| 67 70 4v0O-2 4A 200 76.0 14.0
74 13 3NS+1 3 630 74.0 16.0(204 206 3NV -2 6 100 850 50| 69 68 44 O-2 5 200 76.0 14.0
77 10 3NS+1 a8 630 74.0 16.0|271 268 4y O-2 #Q 100 85.0 50| 75 14 3v0O-2 #4A 200 76.0 14.0
79 8 3NS+1 &3 630 74.0 16.0 3 5 3NV-1 v] 50 56.0 340 79 10 4v0O-2 +38 200 76.0 14.0

105 107 3NS+1 48 630 74.0 16.0 6 2 3NV-1 v] 50 56.0 34.0(114 173 4v O-2 +4 200 76.0 14.0

109 103 3NS+1 48 630 74.0 16.0 7 1 3NV-1 vJ 50 56.0 34.0(168 169 5¢ O-2 4A 200 76.0 14.0

166 175 3NS+1 48 630 740 16.0| 66 69 3NV-1 v] 50 56.0 34.0(205 207 4vDO-1 4A 200 76.0 14.0

170 171 3NS+1 48 630 740 16.0| 70 65 3NV-1 v] 50 56.0 34.0(209 203 3NOQ-2 4T 200 76.0 14.0

180 106 3NS+1 48 630 740 16.0| 72 15 3NV-1 vJ 50 56.0 34.0|272 269 4y O-2 4A 200 76.0 14.0

208 202 3NS+1 438 630 740 16.0| 74 13 3NV-1 v] 50 56.0 34.0|176 111 34 S= *4 140 65.0 25.0

213 276 3NS+1 438 630 740 16.0| 76 11 3NV-1 v] 50 56.0 34.0(208 204 34 S= *9 140 65.0 25.0

215 274 3NS+1 48 630 74.0 16.0| 77 10 3NV-1 vJ 50 56.0 34.0 1 9 4v0-1 +A 100 48.0 42.0

269 270 3NS+1 3 630 740 16.0| 80 4 3NV-1 v] 50 56.0 34.0 4 6 4v O-1 ¢4 100 48.0 42.0

272 267 3NS+1 48 630 74.0 16.0101 111 3NV-1 v] 50 56.0 340( 13 76 4vO-1 4A 100 48.0 42.0
80 4 4v S= v3 620 56.0 34.0|105 107 3NV-1 vJ 50 56.0 30| 15 74 49y O-1 4A 100 48.0 42.0
14 73 3NS= *3 600 52.0 38.0|166 175 3NV-1 v8 50 56.0 340 71 66 4y V-1 a2 100 48.0 42.0
66 69 3NS= v6 600 52.0 38.0|170 171 3NV -1 v7 50 56.0 340 73 16 4vO-1 4A 100 48.0 42.0

108 104 3NS= *8 600 52.0 38.0|179 112 3NV-1 ¢2 50 56.0 34.0| 80 5 49 0-1 8 100 48.0 42.0

275 214 INS+1 +¢6 120 48.0 42.0|207 203 3NV-1 v] 50 56.0 34.0(103 105 4v O-1 4A 100 48.0 42.0

271 268 3NV-1 48 100 46.0 44.0|208 202 3NV-1 v] 50 56.0 34.0(177 110 4v O-1 4A 100 48.0 42.0
12 75 3NS-1 48 -100 24.0 66.0 213 276 3NV-1 vT 50 56.0 34.0(178 109 4v O-1 4A 100 48.0 42.0
70 65 3NS-1 v9 -100 24.0 66.0|215 274 3NV-1 +6 50 56.0 34.0(179 108 4v O-1 4A 100 48.0 42.0
72 15 3NS-1 ¢4 -100 24.0 66.0 (272 267 3NV-1 v] 50 56.0 34.0(201 211 4v O-1 4A 100 48.0 42.0
76 11 3NS-1 .7 -100 24.0 66.0 (273 266 3NV-1 vJ 50 56.0 34.0(202 210 4v O-1 #4A 100 48.0 42.0

101 111 3NS-1 *4 -100 24.0 66.0 | 277 212 3NV-1 v] 50 56.0 34.0(270 271 4v O-1 +4 100 48.0 42.0

102 110 3NS-1 ¢4 -100 24.0 66.0 279 210 3NV-1 v] 50 56.0 34.0(|279 212 4v O-1 +4 100 48.0 42.0

114 177 3NS-1 *4 -100 24.0 66.0| 14 73 3NV= v8 -400 21.0 69.0| 77 12 44 S-2 w7 -100 31.0 59.0

172 169 3NS-1 v6 -100 24.0 66.0| 78 9 3NV= v] -400 21.0 69.0|214 277 44 S-2 v4 -100 31.0 59.0

173 168 3NS-1 48 -100 24.0 66.0| 79 8 3NV= v] -400 21.0 69.0(280 206 3%V = a5 -110 28.0 62.0

174 167 3NS-1 v6 -100 24.0 66.0 (102 110 3NV = vJ -400 21.0 69.0|174 113 3v O = aA -140 25.0 65.0

176 115 3NS-1 48 -100 24.0 66.0 109 103 3NV = vJ] -400 21.0 69.0(180 104 2v V+1 &K -140 25.0 65.0

178 113 3NN-1 ¢4 -100 24.0 66.0|172 169 3NO= &K -400 21.0 69.0| 78 11 44DS-2 &9 -300 21.0 69.0

179 112 3NS-1 .7 -100 24.0 66.0|173 168 3NV = v9 -400 21.0 69.0|273 268 44DS-2 w7 -300 21.0 69.0

201 209 3NS-1 48 -100 24.0 66.0|176 115 3NV = v] -400 21.0 69.0 7 3 4v 0= aA -620 9.0 81.0

204 206 3NS-1 48 -100 24.0 66.0 (180 106 3NV = v] -400 21.0 69.0 8 2 4v O = & A -620 9.0 81.0

207 203 3NS-1 48 -100 24.0 66.0 269 270 3NV = vJ -400 21.0 69.0| 72 65 4v O= *3 -620 9.0 81.0
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273 266 3NS-1 *4 -100 24.0 66.0|275 214 3NV = +6 -400 21.0 69.0|106 102 4y O = +5 -620 9.0 81.0
277 212 3NS-1 *4 -100 24.0 66.0280 205 3NV= v7 -400 21.0 69.0|107 101 4v O= aA -620 9.0 81.0
278 211 3NS-1 .7 -100 24.0 66.0| 12 75 3NV+1 vJ -430 6.0 84.0(171 166 4v V= &K -620 9.0 81.0
279 210 3NS-1 v3 -100 24.0 66.0|108 104 3NV +1 #J -430 6.0 84.0|172 115 4v O = +8 -620 9.0 81.0
280 205 3NS-1 .7 -100 24.0 66.0|278 211 3NV+1 +¢6 -430 6.0 84.0(274 267 4y O= s A -620 9.0 81.0
6 2 3NS-2 .7 -200 1.0 89.0(174 167 24DS-3 +Q -500 2.0 88.0(276 215 4y O= s A -620 9.0 81.0
78 9 3NS-2 *3 200 1.0 89.0| 71 16 2#DS-4 +¢K -800 0.0 90.0|278 213 4v O = aA -620 9.0 81.0
10 4« Knl052 11 10863 12 & KKn
Ost v93 Syd v K73 Vast vE1074
Alla ¢ EK109 Ingen ¢ Kn72 NS + K8642
&E52 £963 *74
49643 4 D7 «DKn74 #E9 4 D10 4 E8742
vE10762 vK v EKn54 D982 v KKn2 v 963
+ D6 + Kn75 + D65 + K98 + EKn103 ¢ D9
&Kn4 #D1098763 &#Knl0 &ED87 #EK65 #1092
« EK8 4 K52 49653
v DKn854 v 106 v D85
¢ 8432 + E1043 75
&K £K542 #DKn83
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
71 66 4v S+1 &J 650 89.0 1.0 1 11 49y 0-1 +A 50 65.0 25.0| 72 67 3NV-4 v7 200 89.0 1.0
214 277 44 N+1 &7 650 89.0 1.0 5 7 4vyO0-1 vT 50 65.0 25.0|101 109 3NV-4 ¢2 200 89.0 1.0
69 68 3NN+1 %8 630 830 7.0 8 4 4v V-1 ¢3 50 65.0 25.0 2 10 3NV-2 v7 100 78.0 12.0
77 12 3NN+1 43 630 83.0 7.0 9 3 4v0-1 T 50 65.0 25.0| 73 66 44 O-2 ¢7 100 78.0 12.0
174 113 3NS+1 49 630 830 7.0| 72 67 4v0O-1 T 50 65.0 25.0|107 103 3NV -2 va 100 78.0 12.0
179 108 3NS+1 ¢2 630 83.0 7.0 74 65 4v O-1 +A 50 65.0 25.0|171 168 3NV -2 v4 100 78.0 12.0
4 6 44 N= *7 620 75.0 150 76 15 4v V-1 46 50 65.0 25.0(203 205 2NV -2 v4 100 78.0 12.0
276 215 44 N= &T 620 750 150| 78 13 4v O-1 v6 50 65.0 25.0|268 269 3NO-2 +¢7 100 78.0 12.0
279 212 44 N= *J 620 75.0 15.0| 80 6 4v O-1 +A 50 65.0 25.0|270 267 3NV-2 v7 100 78.0 12.0
280 206 44 N = *6 620 75.0 15.0(101 109 4v O-1 T 50 65.0 25.0|274 213 3NV -2 v4 100 78.0 12.0
8 2 3NN= «A 600 63.0 27.0|104 106 4v O-1 T 50 65.0 25.0|276 211 3NV -2 *4 100 78.0 12.0
67 70 3NN= .7 600 63.0 27.0|107 103 4v O-1 T 50 65.0 25.0| 16 75 24 V-1 ¢2 50 52.0 38.0
112 175 3NN= 4Q 600 63.0 27.0(115 174 4v V-1 43 50 65.0 25.0| 68 71 2NV-1 v4 50 52.0 38.0
171 166 3NN = *6 600 63.0 27.0|171 168 4v O-1 v6 50 65.0 25.0| 78 13 3NV-1 ¢4 50 52.0 38.0
176 111 3NN= &8 600 63.0 27.0|172 167 4y V-1 48 50 65.0 25.0| 80 6 24 V-1 &7 50 52.0 38.0
270 271 3NN= *7 600 63.0 27.0(175 114 4v O-1 T 50 65.0 25.0|113 176 3NV -1 vA 50 52.0 38.0
272 269 3NN= &3 600 63.0 27.0|180 105 4v O-1 T 50 65.0 25.0|115 174 2NV-1 ¢2 50 52.0 38.0
273 268 3NS= v2 600 63.0 27.0|207 201 4v V-1 43 50 65.0 25.0|169 170 3NV-1 va 50 52.0 38.0
72 65 3#0-2 &A 200 54.0 36.0 270 267 4y V-1 %3 50 65.0 25.0|173 166 3& V-1 &7 50 52.0 38.0
73 16 3v S= &J 140 52.0 38.0|271 266 4y V-1 ¢2 50 65.0 25.0|178 111 2NV-1 ¢2 50 52.0 38.0
107 101 3¢ N+1 &9 130 49.0 41.0|274 213 4v O-1 T 50 65.0 25.0|179 110 3NV-1 v2 50 52.0 38.0
202 210 4¢ S= *] 130 49.0 41.0|276 211 4v O-1 v6 50 65.0 25.0180 105 24 V-1 &7 50 52.0 38.0
114 173 24 N= &3 110 46.0 44.0 (277 210 4v V-1 43 50 65.0 25.0|207 201 3NV-1 ¢4 50 52.0 38.0
13 76 44 N-1 &7 -100 25.0 65.0|278 209 4v V-1 &6 50 65.0 25.0|271 266 24 V-1 &7 50 52.0 38.0
15 74 3NN-1 &6 -100 25.0 65.0|279 208 4y V-1 46 50 65.0 25.0|272 215 2NV-1 &K 50 52.0 38.0
75 14 3NN-1 &5 -100 25.0 65.0(280 204 4y V-1 ¢2 50 65.0 25.0|277 210 2NV-1 ¢4 50 52.0 38.0
78 11 3NN-1 &8 -100 25.0 65.0| 68 71 3vy O= v6 -140 37.0 53.0|278 209 3NV-1 v4 50 52.0 38.0
79 10 2¢vS-1 4] -100 25.0 65.0| 73 66 3v O= vT -140 37.0 53.0(280 204 2NV-1 v4 50 52.0 38.0
80 5 3NN-1 ¢K -100 25.0 65.0|173 166 3y O+1 43 -170 33.0 57.0| 74 65 24 O= v5 -110 32.0 58.0
103 105 3NN-1  #9 -100 25.0 65.0|203 205 1y O+3 %6 -170 33.0 57.0|172 167 24 O= *7 -110 32.0 58.0
106 102 3NN-1 &3 -100 25.0 65.0 2 10 3¢DS-2 «4Q -300 30.0 60.0 (212 275 24 V= *7 -110 32.0 58.0
168 169 4v S-1 49 -100 25.0 65.0| 14 77 3NV= 43 -400 27.0 63.0 5 7 INV+1l &K -120 21.0 69.0
170 167 3NN-1  &T -100 25.0 65.0| 16 75 3NO= &4 -400 27.0 63.0 8 4 INV+1 v4 -120 21.0 69.0
177 110 44 N-1  &T -100 25.0 65.0| 70 69 4y O= v6 -420 130 77.0| 14 77 2NV= *4 -120 21.0 69.0
178 109 3NN-1 49 -100 25.0 65.0|108 102 4y O = a2 -420 130 77.0| 70 69 2NV= va -120 21.0 69.0
180 104 44 N-1 %6 -100 25.0 65.0|113 176 4y O = a2 -420 130 77.0| 79 12 2NV= *4 -120 21.0 69.0
201 211 44 N-1 vK -100 25.0 65.0|169 170 4v O = vT -420 13.0 77.0(108 102 2NV = 2 -120 21.0 69.0
205 207 3NN-1 48 -100 25.0 65.0 (177 112 4v V= 48 -420 13.0 77.0|177 112 2NV = *4 -120 21.0 69.0
208 204 4¢ S-1 &) -100 25.0 65.0|178 111 4y O = &4 -420 13.0 77.0|206 202 2NV = vA -120 21.0 69.0
209 203 44 N-1 &9 -100 25.0 65.0|179 110 4v O = v2 -420 13.0 77.0|175 114 INV+2 ¢4 -150 12.0 78.0
266 275 44 N-1  vK -100 25.0 65.0|206 202 4y O = *2 -420 13.0 77.0 1 11 2NV+2 ¢2 -180 10.0 80.0
274 267 44 N-1 48 -100 25.0 65.0|212 275 4y O= a2 -420 130 77.0| 76 15 3vS-3 4Q -300 8.0 82.0
278 213 44 N-1  &T -100 25.0 65.0 (214 273 4y O= &4 -420 13.0 77.0(104 106 3NV = 2 -400 5.0 85.0
7 3 3#0= aA -110 4.0 86.0|268 269 4y O = *A -420 13.0 77.0|279 208 3NV = +6 -400 5.0 85.0
1 9 4y N-2 48 -200 1.0 89.0|272 215 4v O = a2 -420 13.0 77.0 9 3 1¢DN-2 &2 -500 2.0 88.0
172 115 3NS-2 a4 -200 1.0 89.0| 79 12 INDN-4 ¥8 -800 0.0 90.0 (214 273 3vDS-3 &K -800 0.0 90.0
13 +E8 14 498653 15 «ED108
Nord v EKKn95 Ost vKn Syd vE73
Alla +D3 Ingen + ED10642 NS 4974
#KDKn6 &4 £#Kn62
4KKn95 4D 4 K10 « EDKn & K65 4972
v6 vD87432 vK1084 v E9652 vDKnl108 v K96
¢ K10876 ¢ EKn42 +73 + Kn8 + EKDKn65 ¢ 10
#1082 297 #K9853 #E106 &- #EKD1075
41076432 & 742 & Kn43
v10 vD73 v 542
+95 + K95 4832
&E543 &DKn72 #9843
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
71 70 2¢vDO-3 +¢9 800 90.0 0.0(112 106 2vy N+4 #Q 230 90.0 0.0| 74 69 6NDV-1 4A 100 90.0 0.0
104 114 3NN+2 49 660 88.0 20272 273 3NO-2 42 100 880 20| 76 67 3NV-1 & 50 82.0 8.0
77 16 44 N= v5 620 84.0 6.0(111 107 5v O-1 46 50 85.0 5.0|174 169 6¢ V-1 vA 50 82.0 8.0
175 172 44 S= v6 620 84.0 6.0|176 171 5v O-1 43 50 85.0 5.0|179 114 6¢ V-1 vA 50 82.0 8.0
203 213 44 S= v6 620 840 6.0| 79 14 44 N-2 ¢ -100 82.0 8.0(202 266 6¢ V-1 YA 50 82.0 8.0
102 166 3NN = 4Q 600 80.0 100 10 4 3vO= + K -140 80.0 10.0(208 210 3NO-1 4] 50 82.0 8.0
105 113 1v O-2 +9 200 78.0 12.0|207 209 2y O+2 42 -170 77.0 13.0|212 206 4v O-1 &J 50 82.0 8.0
65 76 24 S+1 ¢5 140 75.0 15.0|274 271 3vy O+1 +¢5 -170  77.0 13.0(269 278 4v V-1 &A 50 82.0 8.0
169 178 34 S= v6 140 75.0 15.0|266 279 2vy O+3 +¢5 -200 74.0 16.0 3 13 44 0= 43 -130 74.0 16.0
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111 107 3#N+1 4Q 130 72.0 18.0 (201 215 5¢DN-2 #A -300 72.0 18.0 2 14 2¢ V+3 &2 -150 72.0 18.0
79 14 1lvy N+1 «Q 110 66.0 24.0 2 12 4v 0= +5 -420 53.0 37.0 7 9 3NV= 48 -400 55.0 35.0
173 174 34 N= «Q 110 66.0 24.0 3 11 4v 0= 5 -420 53.0 37.0| 10 6 3NV= 8 -400 55.0 35.0
272 273 1v N+1 «Q 110 66.0 240 69 72 4v O= +5 -420 53.0 37.0( 11 5 3NV= 46 -400 55.0 35.0
274 271 3# N= 9 110 66.0 240 74 67 4v O= *Q -420 53.0 37.0| 16 79 3NO= 43 -400 55.0 35.0
275 270 3# N= «Q 110 66.0 240 80 7 4vO= *Q -420 53.0 37.0( 78 65 3NV= 48 -400 55.0 35.0
112 106 1v N= «Q 80 57.0 33.0(102 166 4v O = +5 -420 53.0 37.0(103 111 3NV= oT -400 55.0 35.0
176 171 1v N= 4 A 80 57.0 33.0(103 115 4v O = a2 -420 53.0 37.0(106 108 3NV = 48 -400 55.0 35.0
179 168 1v N= +Q 80 57.0 33.0(105 113 4v O= 5 -420 53.0 37.0(115 178 3NV = s A -400 55.0 35.0
211 205 1v N= «Q 80 57.0 33.0(167 101 4v O = +5 -420 53.0 37.0(167 176 3NV = s A -400 55.0 35.0
1 13 44 N-1 v3 -100 37.0 53.0(169 178 4v O = a7 -420 53.0 37.0(171 172 3NV = 48 -400 55.0 35.0
3 11 44 S-1 v6 -100 37.0 53.0(173 174 4y O= 5 -420 53.0 37.0(173 170 5¢ V= s A -400 55.0 35.0
6 8 44S-1 vT -100 37.0 53.0(177 170 4v O = +5 -420 53.0 37.0(175 168 3NV = 48 -400 55.0 35.0
9 5 44S-1 v6 -100 37.0 53.0(180 109 4v O = ¢+ K -420 53.0 37.0(177 166 3NV= 48 -400 55.0 35.0
10 4 44S-1 v6 -100 37.0 53.0(202 214 4y O= +K -420 53.0 37.0(204 214 3NV= 48 -400 55.0 35.0
69 72 44 N-1 &9 -100 37.0 53.0(203 213 4y V= *3 -420 53.0 37.0(275 272 3NV= 48 -400 55.0 35.0
73 68 44 S-1 v6 -100 37.0 53.0(204 212 4v O = *Q -420 53.0 37.0(280 209 3NV= s A -400 55.0 35.0
74 67 44 S-1  v6 -100 37.0 53.0(210 206 4y O= +6 -420 53.0 37.0( 70 73 54V +1l 46 -420 38.0 52.0
75 66 44 S-1 v5 -100 37.0 53.0(268 277 4v O = *Q -420 53.0 37.0(180 107 3NV +1 T -430 34.0 56.0
103 115 44 S-1  v6 -100 37.0 53.0 1 13 4v O+1 ¢5 -450 23.0 67.0]203 215 3NV +1 6 -430 34.0 56.0
108 110 44 N-1  v6 -100 37.0 53.0 6 8 4v O+l 5 -450 23.0 67.0(205 213 3NV +1 &2 -430 34.0 56.0
180 109 44 S-1  v6 -100 37.0 53.0 9 5 4v 0+l 2Q -450 23.0 67.0| 72 71 4y O+1 &3 -450 28.0 62.0
201 215 44 S-1  v6 -100 37.0 53.0| 71 70 4vy O+1 &J -450 23.0 67.0(110 104 4y V+1 &A -450 28.0 62.0
204 212 44 S-1  v6 -100 37.0 53.0( 73 68 4y O+1 &2 -450 23.0 67.0(279 268 5v V= s A -450 28.0 62.0
210 206 44 S-1 +6 -100 37.0 53.0| 75 66 4y O+1 &4 -450 23.0 67.0]267 201 3NO+2 &3 -460 24.0 66.0
276 269 44 S-1  v6 -100 37.0 53.0| 77 16 4y O+1 +¢5 -450 23.0 67.0|211 207 4y V+2 #3 -480 21.0 69.0
2 12 44S-2 o2 -200 10.0 80.0(108 110 4y O+1 &2 -450 23.0 67.0(276 271 4y V+2 48 -480 21.0 69.0
15 78 64 N-2 +A -200 10.0 80.0|175 172 4y O+1 +¢5 -450 23.0 67.0 1 15 3NO+3 &3 -490 10.0 80.0
80 7 44S-2 v6 -200 10.0 80.0|211 205 4y O+1 ¢4 -450 23.0 67.0 4 12 3NO+3 43 -490 10.0 80.0
167 101 54 N-2 «4Q -200 10.0 80.0|275 270 4y O+1 #Q -450 23.0 67.0| 75 68 3NV+3 +¢9 -490 10.0 80.0
177 170 44 S-2  +3 -200 10.0 80.0|276 269 4y O+1 &7 -450 23.0 67.0| 80 8 3NO+3 &9 -490 10.0 80.0
202 214 54 N-2 &Q -200 10.0 80.0| 15 78 4y O+2 #Q -480 6.0 84.0|101 113 3NV +3 &2 -490 10.0 80.0
207 209 44 S-2 +6 -200 10.0 80.0| 65 76 4y O+2 &7 -480 6.0 84.0(102 112 3NV +3 &2 -490 10.0 80.0
266 279 54 N-2 «Q -200 10.0 80.0|104 114 4y O+2 Q -480 6.0 84.0|109 105 3NO+3 &3 -490 10.0 80.0
268 277 44 N-2 +A -200 10.0 80.0|179 168 4y O+2 #Q -480 6.0 84.0|273 274 3NV +3 &9 -490 10.0 80.0
278 267 3#N-2 4Q -200 10.0 80.0 (278 267 4y O+2 42 -480 6.0 84.0(277 270 3NV +3 &2 -490 10.0 80.0
280 208 3NN-2 ¢2 -200 10.0 80.0 280 208 5¢DN-3 YA -500 0.0 90.0| 66 77 INDN-6 #A -1700 0.0 90.0
16 4 K72 17 «E1086 18 « KD87432
Vast vD763 Nord v 974 Ost vE10
ov ¢ E1052 Ingen ¢ E3 NS *7
*E2 #D754 &ED7
49 4« ED43 4 KDKn 432 4Kn65 410
vEKNn542 vK vD532 v6 v 76532 vKn8
¢ Kn9 ¢ K7643 ¢ KKn87 ¢ 10954 ¢+E ¢ KKn1052
#87543  #Kn96 #106 #EKn932 #K1094 #Kn8532
« Kn10865 4975 «E9
v 1098 v EKKn108 vKD94
+D8 + D62 + D98643
«KD10 *K8 *6
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
2 14 24DO-3 5 800 90.0 0.0(206 208 3NN = 3 400 90.0 0.0(274 269 64DV -7 &K 1700 90.0 0.0
203 215 3¢DO-2 4 500 88.0 20| 75 70 INS+2 4K 150 88.0 2.0 3 15 64 N+1 vJ 1460 81.0 9.0
167 176 INDN+2 ¢3 380 86.0 4.0 4 14 3v S= K 140 81.0 9.0 5 13 64 N+1 2 1460 81.0 9.0
16 79 14 0-2 «K 200 83.0 7.0 67 78 3v S= «K 140 81.0 9.0 77 68 64 N+1 vJ 1460 81.0 90
280 209 INV-2 v3 200 83.0 7.0| 76 69 2v S+1 &K 140 81.0 90| 79 66 64 N+1 vJ 1460 81.0 9.0
66 77 INN+2 3 150 74.0 16.0 110 106 2v S+1 &K 140 81.0 9.0(110 106 64 N+1 #2 1460 81.0 9.0
72 71 INN+2 &3 150 740 16.0 174 171 2v S+1 &K 140 81.0 9.0(166 179 64 N+1 vJ 1460 81.0 90
103 111 INN+2 ¢4 150 74.0 16.0 201 213 3v S= «Q 140 81.0 9.0(215 278 64 N+1 T 1460 81.0 9.0
106 108 INS+2 49 150 740 160( 11 7 INS+1 4K 120 68.0 22.0(279 214 64 N+1 #3 1460 81.0 9.0
110 104 INN+2 3 150 74.0 16.0(103 113 INS+1 &K 120 68.0 22.0(180 108 64 N = ¢5 1430 72.0 18.0
212 206 INN+2 K 150 740 16.0(168 177 INS+1 7 120 68.0 22.0(101 115 54D O -4 «A 800 70.0 20.0
273 274 INN+2 «3 150 74.0 16.0(178 167 INS+1 4Q 120 68.0 22.0(202 212 3NN+4 &2 720 68.0 22.0
70 73 24 S+1 4] 140 61.0 29.0(180 108 INS+1 +8 120 68.0 22.0 2 16 44 N+3 vJ 710 41.0 49.0
76 67 34 S= *J 140 61.0 29.0(215 278 INS+1 7 120 68.0 22.0 4 14 44 N+3 v 710 41.0 49.0
101 113 1a N+2 #9 140 61.0 29.0(279 214 INS+1 4K 120 68.0 22.0 8 10 44 N+3 &5 710 41.0 49.0
174 169 24 S+1 ¢ 140 61.0 29.0( 71 74 2v S= «T 110 57.0 330 11 7 54 N+2 &3 710 41.0 49.0
202 266 24 S+1 #5140 61.0 29.0 172 173 2v S= K 110 57.0 330 12 6 44 N+3 vJ 710 41.0 49.0
269 278 24 S+1  +J 140 61.0 29.0 203 211 2v S= K 110 57.0 330 65 1 44 N+3 &J 710 41.0 49.0
4 12 INN+1 +3 120 50.0 40.0 (267 276 14 N+1 v6 110 57.0 330 71 74 44 N+3 &5 710 41.0 49.0
7 9 INS+1 ¥4 120 50.0 40.0 (209 205 4¢ O-2 vA 100 51.0 39.0( 73 72 44 N+3 &2 710 41.0 49.0
74 69 INN+1 &6 120 50.0 40.0 (273 270 24D O-1 vK 100 51.0 39.0| 75 70 44 N+3 vJ 710 41.0 49.0
75 68 INN+1 ¢4 120 50.0 40.0 5 13 INS= +K 90 46.0 440| 76 69 44 N+3 #3 710 41.0 49.0
78 65 INN+1 ¢4 120 50.0 400 80 9 INS= *7 90 46.0 440 80 9 44 N+3 &2 710 41.0 49.0
205 213 24 S= &7 110 41.0 49.0(175 170 INS= &K 90 46.0 44.0(102 114 44 N+3 vJ 710 41.0 49.0
211 207 24 S= *J 110 41.0 49.0 2 16 3vS-1 K -50 27.0 63.0(103 113 44 N+3 vJ 710 41.0 49.0
272 275 24 S= &8 110 41.0 49.0 3 15 3vS-1 K -50 27.0 63.0 (107 109 44 N+3 vJ 710 41.0 49.0
279 268 24 S = «3 110 41.0 49.0 8 10 3vS-1 K -50 27.0 63.0(168 177 54 N+2 #3 710 41.0 49.0
3 13 3#V-1 42 100 350 55.0( 12 6 3v S-1 &K -50 27.0 63.0(172 173 44 N+3 vJ 710 41.0 49.0
102 112 2v V-1 2 100 35.0 55,0 65 1 3vS-1 &T -50 27.0 63.0(174 171 44 N+3 &8 710 41.0 49.0
1 15 INN-= ¢4 90 26.0 640| 73 72 3vS-1 K -50 27.0 63.0(175 170 44 N+3 vJ 710 41.0 49.0
10 6 INN= *6 90 26.0 640( 77 68 2v S-1 &T -50 27.0 63.0(178 167 44 N+3 v8 710 41.0 49.0
11 5 INS= 9 90 26.0 640 79 66 24 N-1 v6 -50 27.0 63.0(203 211 44 N+3 vJ 710 41.0 49.0
115 178 INN= ¢3 90 26.0 64.0(101 115 3v S-1  &T -50 27.0 63.0 (206 208 44 N+3 vJ 710 41.0 49.0
175 168 INN= *4 90 26.0 64.0(107 109 2v S-1 &K -50 27.0 63.0(209 205 44 N+3 &5 710 41.0 49.0
208 210 INN= *3 90 26.0 64.0(111 105 24 N-1 v6 -50 27.0 63.0(210 204 44 N+3 vJ 710 41.0 49.0
267 201 INN-= ¢4 90 26.0 64.0|166 179 3v N-1 &K -50 27.0 63.0 (267 276 44 N+3 vJ] 710 41.0 49.0
171 172 2NN-1  «3 -50 13.0 77.0(176 169 3v S-1 &K -50 27.0 63.0 (277 266 44 N+3 #5 710 41.0 49.0
173 170 2v N-1 &6 -50 13.0 77.0(271 272 3v S-1 &K -50 27.0 63.0 (280 207 44 N+3 vJ 710 41.0 49.0
177 166 24 S-1 ¢ -50 13.0 77.0(274 269 3v S-1 &K -50 27.0 63.0| 67 78 44 N+2 &T 680 13.0 77.0
179 114 2v N-1 6 -50 13.0 77.0[277 266 4v S-1 &K -50 27.0 63.0 (201 213 44 N+2 ¢ 680 13.0 77.0

Sydostra Sveriges BF, Olandsveckan - Kval - omgang 1 2011-06-27, sida 5 av 8




180 107 2v N-1 ] -50 13.0 102 114 3v S-2 &K -100 7.0 83.0(104 112 44 N+1 vJ 650 9.0 81.0
276 271 24 S-1  #2 -50 13.0 104 112 3v S-2 &K -100 7.0 83.0(273 270 44 N+1 vJ 650 9.0 81.0
80 8 2aV-= a2 90 5.0 210 204 4v S-2 &K -100 7.0 83.0(275 268 5#DV-3 43 500 6.0 84.0
204 214 2# V= v3 -90 5.0 275 268 3v S-2 4K -100 7.0 83.0(111 105 34 N+4 &2 260 3.0 87.0
109 105 2v N-2 6 -100 2.0 202 212 2#N-3 v6 -150 2.0 88.0(271 272 34 N+4 42 260 3.0 87.0
277 270 24 0+1 +Q -110 0.0 280 207 2¢DV= v7 -180 0.0 90.0(176 169 64 N-1  vJ -100 0.0 90.0
19 & Kn632 20 & Kn852 21 #9752
Syd v E1042 Vast vE543 Nord v K9873
ov +Kn Alla + D653 NS + K10
10862 #Kn «107
«D8 & EK954 « KD7 «E4 464 4 DKn83
vKD98 v7 vDKn v 10862 vD2 v Kn54
¢+ E9865 ¢ D1072 ¢ EK104 +92 ¢ DKn9872 ¢ 43
+93 «D54 #9852 #ED1076 #Kn63 «D854
« 107 # 10963 « EK10
v Kn653 v K97 vE106
¢ K43 ¢ Kn87 ¢ E65
#EKKn7 #K43 #EK92
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
80 10 24 O-2 #A 200 90.0 0.0(179 174 54 0-1 T 100 90.0 0.0 2 68 3NS+3 46 690 87.0 3.0
105 169 2y N= «A 110 88.0 2.0(170 104 INV+1 &5 -120 87.0 3.0(178 171 3NS+3 +¢7 690 87.0 3.0
76 71 24 O-1 «K 100 83.0 7.0(172 102 2NV = 48 -120 87.0 3.0[205 269 3NS+3 +¢Q 690 87.0 3.0
179 174 24 O-1 #A 100 83.0 7.0(206 266 3# O+1 2 -130 84.0 6.0|276 277 3NS+3 ¢7 690 87.0 3.0
207 215 44 O-1 #A 100 83.0 7.0 1 67 INV+2 a5 -150 80.0 10.0 4 66 4v S+2 46 680 73.0 170
279 272 34 O-1 &K 100 83.0 7.0 3 65 INV+2 3 -150 80.0 10.0 5 65 4v S+2 +Q 680 73.0 17.0
4 16 2v N-1 &K -50 70.0 20.0 6 14 3&#V+2 a5 -150 80.0 10.0| 13 9 4vy N+2 «Q 680 73.0 17.0
5 15 3vS-1 «Q -50 70.0 20.0 (107 167 2NV +2 48 -180 75.0 150 73 76 4v S+2 +Q 680 73.0 170
6 14 2v N-1 &A -50 70.0 20.0 {277 274 INV+3 3 -180 75.0 15.0| 75 74 4v S+2 +Q 680 73.0 17.0
68 79 2v N-1 &A -50 70.0 20.0 9 11 3NV= +3 -600 62.0 28.0(101 169 4y N+2 ¢4 680 73.0 17.0
77 70 2y N-1  4A -50 70.0 200 12 8 3NO= +6 -600 62.0 28.0(105 115 4y N+2 &5 680 73.0 170
78 69 2v N-1 &A -50 70.0 200 13 7 3NV= a5 -600 62.0 28.0|170 179 4v S+2 +¢Q 680 73.0 17.0
180 112 2v S-1 «Q -50 70.0 200 76 71 3NV= +3 -600 62.0 28.0(174 175 4y N+2 ¢4 680 73.0 17.0
271 201 2v N-1  &A -50 70.0 20.0 (108 166 3NV = a2 -600 62.0 28.0(211 213 4y S+2 ¢ 680 73.0 170
280 211 2v N-1  &A -50 70.0 20.0 (114 110 3NV= +5 -600 62.0 28.0 6 16 3NS+2 +Q 660 59.0 31.0
9 11 3vS-2 +A -100 58.0 32.0(115 109 3NV= a5 -600 62.0 28.0(109 111 3NS+2 46 660 59.0 31.0
106 168 3#S-2 «4Q -100 58.0 32.0(213 209 3NV-= LX) -600 62.0 28.0(201 273 3NS+2 +Q 660 59.0 31.0
114 110 3v N-2 «K -100 58.0 32.0(214 208 3NV= a5 -600 62.0 28.0|208 266 3NS+2 ¢Q 660 59.0 31.0
13 7 3¢ V= ¢J -110 44.0 46.0(269 203 3NV = 43 -600 62.0 28.0| 79 70 4vy N+1 v4 650 49.0 41.0
72 75 3¢ O= *A -110 44.0 46.0(279 272 3NV = a2 -600 62.0 28.0(106 114 4y N+1 &7 650 49.0 41.0
74 73 3¢ O= SA -110 44.0 46.0 5 15 3NV+1l 3 -630 26.0 64.0(177 172 4v S+1 46 650 49.0 41.0
172 102 3¢ V= &T -110 44.0 46.0| 66 2 3NV+1 &5 -630 26.0 64.0(270 204 4y N+1 ¢4 650 49.0 41.0
176 177 3¢ V= *6 -110 44.0 46.0( 68 79 3NV+1 3 -630 26.0 64.0 (272 202 54 N= ¢4 650 49.0 41.0
202 270 3¢ V= &T -110 44.0 46.0| 72 75 3NV +1 &5 -630 26.0 64.0|280 212 4y N+1 ¢4 650 49.0 41.0
204 268 24 O= *A -110 44.0 46.0| 74 73 3NV+1 v4 -630 26.0 640 14 8 3NS+1 +Q 630 29.0 61.0
214 208 3¢ V= 3 -110 44.0 46.0( 77 70 3NV+1 3 -630 26.0 640 67 3 3NS+1 +Q 630 29.0 610
275 276 2¢ V+1 42 -110 44.0 46.0| 78 69 3NV+1 v3 -630 26.0 640 69 1 3NS+1 ¢Q 630 29.0 61.0
277 274 3¢ V= vA -110 44.0 46.0| 80 10 3NV+1 v4 -630 26.0 64.0| 77 72 3NS+1 +¢Q 630 29.0 61.0
278 273 3¢ V= vA -110 44.0 46.0(101 173 3NV +1 5 -630 26.0 64.0( 78 71 3NS+1 ¢ 630 29.0 610
66 2 3¢ V+l YA -130 30.0 60.0|103 171 3NV +1 v4 -630 26.0 64.0| 80 11 3NS+1 +¢Q 630 29.0 61.0
111 113 2¢ V+2 ¢ -130 30.0 60.0 105 169 3NV +1 &2 -630 26.0 64.0(103 167 3NS+1 +J 630 29.0 61.0
210 212 3¢ V+1 %6 -130 30.0 60.0 (106 168 3NV +1 5 -630 26.0 64.0(104 166 3NS+1 +Q 630 29.0 610
1 67 24 O+1 #A -140 22.0 68.0 111 113 3NV +1 &2 -630 26.0 64.0(112 108 4N S= +Q 630 29.0 61.0
12 8 14 O+2 &K -140 22.0 68.0(176 177 3NV +1 YA -630 26.0 64.0(168 102 3NS+1 +Q 630 29.0 61.0
101 173 24 O+1 *A -140 22.0 68.0(178 175 3NV +1 &5 -630 26.0 64.0(180 110 3NS+1 ¢ 630 29.0 610
115 109 24 O+1 #A -140 22.0 68.0|180 112 3NV +1 +¢3 -630 26.0 64.0]203 271 3NS+1 vQ 630 29.0 61.0
170 104 14 O+2 #A -140 22.0 68.0(202 270 3NV +1 &8 -630 26.0 64.0|206 268 3NN+1 ¢4 630 29.0 61.0
103 171 4¢ O+1 ¢ -150 15.0 75.0(204 268 3NV +1 3 -630 26.0 64.0(278 275 3NS+1 +Q 630 29.0 610
206 266 4v S-3 &9 -150 15.0 75.0|205 267 3NV +1 &5 -630 26.0 64.0 7 15 4v S= ¢+Q 620 11.0 79.0
269 203 24 O+2 #A -170 12.0 78.0|207 215 3NV+1 v3 -630 26.0 64.0| 10 12 4y S= ¢+Q 620 11.0 79.0
178 175 3vDS-2 «Q -300 9.0 81.0(210 212 3NV +1 &5 -630 26.0 64.0|113 107 4y S= +Q 620 11.0 79.0
213 209 3vyDN-2 4A -300 9.0 81.0|271 201 3NV +1 &3 -630 26.0 64.0 215 209 4a S= +Q 620 11.0 79.0
3 65 3vyDN-4 «A -800 4.0 86.0|275 276 3NV +1 v4 -630 26.0 64.0(176 173 3NN-1 +Q -100 3.0 87.0
107 167 3vyDN-4 &K -800 4.0 86.0(278 273 3NV +1 3 -630 26.0 64.0(207 267 3NS-1 +Q -100 3.0 87.0
108 166 3vDS-4 «Q -800 4.0 86.0|280 211 3NV+1 v3 -630 26.0 64.0|214 210 5v N-1 ¢4 -100 3.0 87.0
205 267 24DO+2 A -1070 0.0 90.0 4 16 3NV+2 +6 -660 0.0 90.0|279 274 6NS-1 +Q -100 3.0 87.0
22 97 23 « EK2 24 464
Ost v EDKn62 Syd v KKn108 Vast v DKn972
ov + K108 Alla ¢ E Ingen ¢ E75
#1065 #DKn763 #KKn4
« KDKn6 «E853 aKn7 «D10643 « EDKNn52 4K109873
v K84 v75 v7654 vED92 vE43 v K5
#9432 ¢+ D765 ¢862 ¢Kn73 ¢ 1032 + 964
»E7 #KKn8 #K854 &2 #ED #53
« 1042 4985 a-
v 1093 v3 v 1086
¢ EKn ¢ KD10954 ¢ KDKn8
#D9432 «E109 #1098762
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
176 173 3vyDN= 46 530 90.0 11 13 4vDV-7 ¢A 2000 90.0 0.0 7 65 3yDN= 49 530 90.0 0.0
178 171 44 V-3 #5 300 88.0 280 210 3vyDO-6 ¢K 1700 88.0 2.0(274 275 54 V-2 vQ 100 88.0 2.0
10 12 34 V-2 &7 200 81.0 205 215 6NN = ¢3 1440 86.0 4.0 1 71 44 V-1 <A 50 63.0 27.0
112 108 34 V-2 47 200 81.0 3 69 3NN+3 &3 690 70.0 20.0 3 69 44V-1 vQ 50 63.0 27.0
205 269 34 V-2 49 200 81.0 5 67 3NN+3 «4 690 70.0 20.0 5 67 44V-1 vJ] 50 63.0 27.0
208 266 34 O-2 vT 200 81.0 6 66 3NN+3 #2 690 70.0 20.0 6 66 44 V-1 vQ 50 63.0 27.0
270 204 4¢ V-2 49 200 81.0 74 77 3NN+3 43 690 70.0 20.0( 11 13 44 V-1 46 50 63.0 27.0
280 212 44 V-2 &7 200 81.0 76 75 3NN+3 v2 690 70.0 200 15 9 44 V-1 vQ 50 63.0 27.0
5 65 24V-1 «9 100 59.0 114 108 3NN+3 43 690 70.0 20.0| 80 12 44 V-1 46 50 63.0 27.0
6 16 44 V-1 vA 100 59.0 171 101 3NN+3 43 690 70.0 20.0 (104 168 44 V-1 vQ 50 63.0 27.0
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13 9 340-1 49 100 59.0 31.0 (177 174 3NN+3 «4 690 70.0 20.0 (105 167 44 V-1 vQ 50 63.0 27.0
73 76 34V-1 49 100 59.0 31.0(178 173 3NN+3 &5 690 70.0 20.0 (107 115 44 V-1 vQ 50 63.0 27.0
79 70 34 V-1 &7 100 59.0 31.0(203 267 3NN+3 43 690 70.0 20.0 (110 112 44 V-1 vJ 50 63.0 27.0
101 169 24 V-1 49 100 59.0 31.0(213 207 3NN+3 &3 690 70.0 20.0 114 108 44 V-1 vQ 50 63.0 27.0
103 167 3¢ V-1 49 100 59.0 31.0(268 202 3NN+3 44 690 70.0 20.0 (171 101 4a V-1 &4 50 63.0 27.0
104 166 44 V-1 vA 100 59.0 31.0(270 279 3NN+3 43 690 70.0 20.0(175 176 44 V-1 44 50 63.0 27.0
106 114 34 O-1 T 100 59.0 31.0(274 275 3NN+3 44 690 70.0 20.0 (177 174 44 O-1 +Q 50 63.0 27.0
113 107 34 V-1 #6 100 59.0 31.0 (277 272 3NN+3 &3 690 70.0 20.0(178 173 44 V-1 vQ 50 63.0 27.0
170 179 34 V-1 &5 100 59.0 310 78 73 3NN+2 44 660 51.0 39.0(180 111 44 V-1 4 50 63.0 27.0
201 273 24 V-1 49 100 59.0 31.0(106 166 3NN+2 44 660 51.0 39.0 201 269 44 O-1 +K 50 63.0 27.0
207 267 34 V-1 49 100 59.0 31.0 (107 115 3NN+2 A 660 51.0 39.0 203 267 44 O-1 K 50 63.0 27.0
211 213 44 V-1 49 100 59.0 31.0(169 103 3NN+2 43 660 51.0 39.0(206 214 44 O-1 ¢ 50 63.0 27.0
272 202 34 O-1 vT 100 59.0 310 68 4 3NN+1 &6 630 35.0 55.0(209 211 44 V-1 vQ 50 63.0 27.0
279 274 34 O-1 v3 100 59.0 31.0| 79 72 3NS+1 4] 630 35.0 55.0 (213 207 44 V-1 vJ 50 63.0 27.0
69 1 3y N-1 &A -50 40.0 50.0(102 170 3NN+1 43 630 35.0 55.0(276 273 44 V-1 vQ 50 63.0 27.0
203 271 3vy N-1 &A -50 40.0 50.0 (104 168 3NN+1 «4 630 35.0 55.0(280 210 44 V-1 vQ 50 63.0 27.0
215 209 4y N-1  &A -50 40.0 50.0 ({110 112 3NN+1 &4 630 35.0 55.0(102 170 5vDN-1 &7 -100 37.0 53.0
2 68 3vyDN-1 «A -100 36.0 54.0(113 109 3NN+1 43 630 35.0 55.0 (113 109 5vDN-1 &9 -100 37.0 53.0
4 66 24 O= vT -110 28.0 62.0|175 176 3NN+1 4 630 35.0 55.0| 14 10 24 V+ v7 -140 31.0 59.0
7 15 24 O= vT -110 28.0 62.0201 269 3NN+1 «3 630 35.0 55.0 268 202 34 V= vQ -140 31.0 59.0
67 3 24 0= vT -110 28.0 62.0(204 266 3NN+1 46 630 35.0 55.0 (277 272 24 V+1 97 -140 31.0 59.0
75 74 24 O= a7 -110 28.0 62.0|206 214 3NN+1 43 630 35.0 55.0 278 271 34 V= vQ -140 31.0 59.0
109 111 24 V= vT -110 28.0 62.0(212 208 3NN+1 «4 630 35.0 55.0| 78 73 24 V+2 46 -170  25.0 65.0
276 277 24 O= vT -110 28.0 62.0(276 273 3NN+1 vA 630 35.0 55.0(212 208 34 V+1 v2 -170 25.0 65.0
278 275 24 O= v9 -110 28.0 62.0 1 71 3NN-= «4 600 19.0 71.0 8 16 5vDN-2 &A -300 22.0 68.0
77 72 24 V+1 49 -140 14.0 76.0 8 16 3NN= «A 600 190 71.0| 68 4 4e V= vQ -420 10.0 80.0
78 71 34 V= vA -140 14.0 76.0| 15 9 3NN= +4 600 190 71.0| 70 2 4a V= vQ -420 10.0 80.0
80 11 34 V= 49 -140 14.0 76.0|278 271 3NN-= «3 600 190 71.0| 74 77 4e V= a4 -420 10.0 80.0
105 115 34 O = vA -140 14.0 76.0|180 111 34 N+1 %2 130 130 77.0| 76 75 4e V= *K -420 10.0 80.0
174 175 34 V= 49 -140 14.0 76.0|209 211 3#N+1 43 130 13.0 770 79 72 44 V= a4 -420 10.0 80.0
180 110 24 V+1 &7 -140 14.0 76.0| 80 12 2y N= &2 110 10.0 80.0|106 166 4e V= *4 -420 10.0 80.0
214 210 34 V= a7 -140 14.0 76.0 (179 172 2¢ S= oT 90 8.0 82.0|169 103 4e V= vQ -420 10.0 80.0
14 8 24 V+2 ©vA -170 3.0 87.0( 70 2 3¢ S-1 & -100 6.0 84.0(179 172 44 V= vQ -420 10.0 80.0
168 102 24 V+2 &6 -170 3.0 87.0| 14 10 3NS-2 &) -200 4.0 86.0 204 266 44 V= vQ -420 10.0 80.0
177 172 34 V+1 YA -170 3.0 87.0 7 65 6&#N-3 &2 -300 1.0 89.0(205 215 4a V= vQ -420 10.0 80.0
206 268 34 V+1 YA -170 3.0 87.0| 105 167 6# N-3 &2 -300 1.0 89.0(270 279 44 O= *K -420 10.0 80.0
25 462 26 4 KD753 27 « DKn92
Nord vKn Ost v 1098 Syd vKnl0
ov ¢ 107652 Alla ¢ 10985 Ingen +75
#DKn1062 «D #ED1074
4DKn3  #EK975 410982 «EG64 «K10643 4E75
vE92 v 106543 vK432 vD65 vES53 v972
¢ EKDKn 494 ¢Kn2  #EG3 ¢E ¢ Kn643
#743 *9 #1097 #Kn643 #K982 #Kn53
+ 1084 «Kn 8
v KD87 v EKn7 v KD864
+83 ¢+ KD74 ¢ KD10982
#EK85 #EK852 »6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
272 206 4y O-3 #A 300 90.0 0.0 7 67 3NS+1 v2 630 87.0 3.0(280 215 3vDS+1 ¢A 630 90.0 0.0
79 74 49 O-2 &A 200 870 30| 16 10 3NS+1 T 630 87.0 3.0(101 175 34DV-3 7 500 85.0 5.0
106 174 4v O-2 #A 200 87.0 30| 75 78 3NS+1 T 630 87.0 3.0(171 105 34DV-3 vJ 500 85.0 5.0
2 72 4v V-1 #Q 100 80.0 10.0(173 107 3NS+1 T 630 87.0 3.0(203 277 34DV-3 vJ 500 85.0 5.0
6 68 4vV-1 #Q 100 80.0 10.0( 77 76 3NS= v2 600 70.0 20.0(210 270 44DV-3 ¢7 500 85.0 5.0
102 178 4v V-1 «Q 100 80.0 10.0| 79 74 5¢ S= «T 600 70.0 20.0 2 74 4v S= ¢A 420 80.0 10.0
114 166 4v V-1 «Q 100 80.0 10.0 (102 178 3NS= «T 600 70.0 20.0| 78 77 44DV-2 ] 300 73.0 17.0
173 107 3NV-1 #Q 100 80.0 10.0(104 176 3NS= «T 600 70.0 20.0(177 178 34DV-2 ¢7 300 73.0 170
12 14 3#S-1  +A -50 74.0 16.0 (167 113 3NS= v2 600 70.0 20.0 (206 274 34DV-2 7 300 73.0 17.0
7 67 44 N-2 aA -100 70.0 20.0(175 105 3NS= «T 600 70.0 20.0 (209 271 34DV-2 vJ 300 73.0 17.0
201 277 44 S-2 «Q -100 70.0 20.0 (201 277 5¢ S= «T 600 70.0 20.0(268 212 34DO-2 ¢K 300 73.0 170
209 269 3#DN-1 4A -100 70.0 20.0(202 276 3NS= «T 600 70.0 20.0 (275 205 34DV-2 vJ 300 73.0 17.0
75 78 INV+1 #Q -120 65.0 25.0(203 275 3NS= «T 600 70.0 200 13 15 2NN+1 48 150 65.0 25.0
267 211 INV+1 #Q -120 65.0 25.0(208 270 3N S= «T 600 70.0 20.0(102 174 34 V-3 ¢7 150 65.0 25.0
111 169 2NV +1 #Q -150 61.0 29.0(209 269 3NS= T 600 70.0 20.0 5 71 2vS+1 «4 140 61.0 29.0
274 204 54 N-3 &A -150 61.0 29.0| 266 212 3NN-= v2 600 70.0 20.0| 65 11 2v S+1 +A 140 61.0 29.0
8 66 3v O+1 o] -170 48.0 42.0(278 279 3NS= v3 600 70.0 20.0(173 103 3¢ S+1 +A 130 58.0 32.0
77 76 24 V+2 v] -170  48.0 42.0(168 112 INS+3 +¢J 180 55.0 35.0 3 73 2NN= 5 120 56.0 34.0
80 13 24 O+2 &A -170 48.0 42.0|280 214 2NS+2 T 180 55.0 35.0 (273 207 3¢ S= vA 110 54.0 36.0
103 177 24 V+2 vJ] -170 48.0 420 69 5 INS+2 &5 150 49.0 41.0(104 172 24 V-2 v] 100 51.0 39.0
110 170 24 O+2 #K -170  48.0 420 71 3 2NS+1 ¢ 150 49.0 41.0|279 201 3«4DV-1 «Q 100 51.0 39.0
167 113 34 O+1 K -170 48.0 42.0|114 166 2¢ S+3 «T 150 49.0 41.0 7 69 3vS-1  v3 -50 34.0 56.0
175 105 24 V+2 vJ -170 48.0 42.0|267 211 2¢ S+3 «T 150 49.0 41.0 8 68 3NN-1 &3 -50 34.0 56.0
205 273 2y O+2 #A -170  48.0 42.0 4 70 24 N+1 &6 140 42.0 48.0| 72 4 49y S-1 +A -50 34.0 56.0
207 271 34 O+1 #A -170 48.0 42.0|110 170 24 N+1 #4 140 42.0 48.0| 80 14 3NN-1 &5 -50 34.0 56.0
210 268 34 O+1 *A -170 48.0 42.0(272 206 24 S+1 «T 140 42.0 48.0|107 169 4v S-1 +A -50 34.0 56.0
266 212 24 V+2 v] -170  48.0 42.0| 15 11 2¢ S+2 T 130 35.0 55.0(108 168 2NN-1 «A -50 34.0 56.0
108 172 24 V+3 v] -200 35.0 55.0|106 174 3¢ S+1 ¢33 130 35.0 55.0(112 114 4v S-1 vA -50 34.0 56.0
278 279 24 V+3  v] -200 35.0 55.0(210 268 2¢ S+2 T 130 35.0 55.0(115 111 3NN-1 &7 -50 34.0 56.0
213 215 29 S-5 +A -250 32.0 58.0|274 204 3¢ N+1 ¢3 130 35.0 55.0(166 110 4v S-1 &4 -50 34.0 56.0
4 70 44 O= *A -620 21.0 69.0| 111 169 2NS= v5 120 30.0 60.0(179 176 3v S-1 &2 -50 34.0 56.0
9 65 4e V= *Q -620 21.0 69.0 8 66 2¢ N+1 A 110 26.0 64.0(180 113 3NN-1 «A -50 34.0 56.0
16 10 44 O= SA -620 21.0 69.0(179 101 2¢ S+1 +¢J 110 26.0 64.0 204 276 3NN-1 &A -50 34.0 56.0
69 5 4a V= vJ -620 21.0 69.0|205 273 2¢ S+1 v3 110 26.0 64.0 208 272 3NN-1 &A -50 34.0 56.0
109 171 44 O= a4 -620 21.0 69.0 2 72 3NS-1 T -100 15.0 75.0(214 266 4y S-1 v3 -50 34.0 56.0
168 112 4e V= vJ -620 21.0 69.0 6 68 3NS-1 v2 -100 15.0 75.0|267 213 3NN-1 &5 -50 34.0 56.0
179 101 4v O = *A -620 21.0 69.0 9 65 3NS-1 v2 -100 15.0 75.0 9 67 3NN-2 a5 -100 14.0 76.0
180 115 4e V= vJ -620 21.0 69.0( 12 14 3NS-1 T -100 15.0 75.0( 10 66 3NN-2 5 -100 14.0 76.0
203 275 44 O= SA -620 21.0 69.0( 80 13 3NS-1 &T -100 15.0 75.0| 16 12 3NN-2 45 -100 14.0 76.0
280 214 4e V= vJ -620 21.0 69.0|103 177 3NS-1 v2 -100 15.0 75.0| 70 6 4vyS-2 +A -100 14.0 76.0
1 73 4e V+1l #A -650 5.0 85.0(109 171 3NS-1 T -100 15.0 75.0 (109 167 4y S-2 &2 -100 14.0 76.0
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15 11 44 V+1 #Q -650 5.0 85.0(213 215 4NS-1 v6 -100 15.0 106 170 4v S-3 ¢A -150 8.0 82.0
71 3 44 O+1 &K -650 5.0 85.0 1 73 3NS-2 v2 -200 3.0 202 278 3NN-4 v7 -200 5.0 85.0
104 176 44 V+1 #Q -650 5.0 85.0(108 172 3NS-2 v4 -200 3.0 211 269 54 S-4 43 -200 5.0 85.0
202 276 44 O+1 K -650 5.0 85.0(180 115 3NS-2 v3 -200 3.0 1 75 4¢DS-2 vA -300 1.0 89.0
208 270 44 O+1 &A -650 5.0 85.0(207 271 3NS-2 v3 -200 3.0 76 79 5¢DN-2 ¢A -300 1.0 89.0
28 « E643 29 & K5 30 «E2
Vast v KKn10 Nord vD2 Ost v KDKn73
NS ¢ DKn74 Alla + EK8732 Ingen + D5
#108 #1075 &ED107
4 Kn 4 KD8 4E1076 D3 4 KDKn63 41094
vD9653 vE82 vK10 v EKn9863 vE854 v10
41093 52 + 1094 +D *7 + KKn642
#ED53 #KKn762 #KDKn2 #E964 #985 #KKn42
4109752 & Kn9842 4 875
v74 v 754 v 962
+ EK86 ¢ Kn65 + E10983
94 #83 #63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
268 212 34 S= v3 140 90.0 0.0]| 71 7 3%V= + K -110 89.0 1.0|178 179 44DV -3 vK 500 90.0 0.0
9 67 24 S= T 110 86.0 4.0(277 278 3& V= * K -110 89.0 1.0|279 276 34DV-2 «A 300 88.0 2.0
13 15 24 S= v5 110 86.0 4.0 6 72 2v O+3 48 -200 75.0 15.0|266 210 3v N+1 &4 170 86.0 4.0
70 6 24 S= v3 110 86.0 4.0 8 70 2vO+3 +A -200 75.0 15.0(201 275 34 V-3 vK 150 840 6.0
101 175 44 0-2 ¢A 100 75.0 150 11 67 3vy O+2 5 -200 75.0 15.0|105 173 3v N= a4 140 80.0 10.0
108 168 4v V-2 *4 100 75.0 15.0| 79 78 2v O+3 45 -200 75.0 15.0|174 104 1v N+2 &T 140 80.0 10.0
166 110 4v O-2 T 100 75.0 15.0(108 170 3v V+2 5 -200 75.0 15.0(280 213 3v N= aT 140 80.0 10.0
179 176 44 V-2 «A 100 75.0 15.0(110 168 3v O+2 5 -200 75.0 15.0 6 72 2NN= T 120 76.0 14.0
210 270 4v V-2 +Q 100 75.0 15.0(166 112 3v O+2 4 -200 75.0 15.0| 77 1 1y N+1 ¢4 110 73.0 17.0
273 207 44 0O0-2 ¢K 100 75.0 15.0(167 111 3v O+2 5 -200 75.0 15.0|167 111 3¢ S= 4K 110 73.0 17.0
275 205 4v V-2 4A 100 75.0 15.0(201 275 2y O+3 48 -200 75.0 15.0|113 115 44DV-1 ¥K 100 70.0 20.0
280 215 44 0-2 +A 100 75.0 15.0(215 211 1vy O+4 5 -200 75.0 15.0| 80 15 1v N= 49 80 68.0 22.0
3 73 3#0-1 +A 50 57.0 33.0(273 203 3vy O+2 5 -200 75.0 15.0 9 69 3aV-1 vK 50 62.0 28.0
10 66 44 0-1 ¢A 50 57.0 33.0(279 276 2y O+3 5 -200 75.0 150| 71 7 34 V-1 vQ 50 62.0 28.0
102 174 2y V-1  &T 50 57.0 33.0(180 114 2y O+4 ¢ -230 61.0 29.0|172 106 34 V-1 vK 50 62.0 28.0
109 167 3v V-1 ¢Q 50 57.0 33.0(207 269 2y O+4 ¢ -230 61.0 29.0(204 272 34 V-1 vK 50 62.0 28.0
115 111 34 O0-1 ¢A 50 57.0 33.0| 77 1 49 0= +5 -620 57.0 33.0(271 205 34 V-1 vK 50 62.0 28.0
173 103 3v V-1  +7 50 57.0 33.0(204 272 54 O0+1 +6 -620 57.0 33.0 2 76 3¢ S-1 &K -50 51.0 39.0
177 178 3v V-1  4A 50 57.0 33.0(206 270 3NO+1 +¢A -630 54.0 36.0 3 75 5v N-1 &7 -50 51.0 39.0
204 276 3#0-1 ¢A 50 57.0 33.0 2 76 4v O+1 &8 -650 31.0 59.0 8 70 4v N-1 &7 -50 51.0 39.0
206 274 3v V-1 +7 50 57.0 33.0 3 75 4v O+1 &8 -650 31.0 59.0 102 176 4v N-1 &T -50 51.0 39.0
279 201 2v V-1 &T 50 57.0 33.0 4 74 4v O+1 &8 -650 31.0 59.0(103 175 4v N-1  &T -50 51.0 39.0
76 79 INV= ¢4 -90 44.0 46.0 9 69 4v O+1 45 -650 31.0 59.0(109 169 3v N-1 &T -50 51.0 39.0
202 278 24 O = *A -90 44.0 46.0 10 68 4y O+1 #8 -650 31.0 59.0| 11 67 3vyDN-1 &T -100 41.0 49.0
209 271 2# V= *8 -90 44.0 46.0| 65 13 4v O+1 5 -650 31.0 59.0| 79 78 4vyDN-1 49 -100 41.0 49.0
2 74 34S-1  ¢3 -100 35.0 55.0| 73 5 4v O+1 8 -650 31.0 59.0(166 112 3¢DS-1 &K -100 41.0 49.0
112 114 34 N-1 vA -100 35.0 55.0( 80 15 4v O+1 48 -650 31.0 59.0180 114 4v N-2 &T -100 41.0 49.0
203 277 34 N-1 ¢5 -100 35.0 55.0(101 177 4v O+1 48 -650 31.0 59.0 (107 171 24 V= +Q -110 34.0 56.0
208 272 34 S-1  &A -100 35.0 55.0(102 176 4y O+1 +¢5 -650 31.0 59.0|206 270 24 O = aA -110 34.0 56.0
214 266 34 N-1 +5 -100 35.0 55.0(103 175 4v O+1 5 -650 31.0 59.0|277 278 24 V= vK -110 34.0 56.0
267 213 34 S-1 43 -100 35.0 55.0(109 169 4y O+1 5 -650 31.0 59.0| 14 16 34 V= +Q -140 28.0 62.0
1 75 2v V= &T -110 20.0 70.0 (172 106 4y O+1 48 -650 31.0 59.0| 65 13 34 V= vK -140 28.0 62.0
5 71 2v V= *J -110 20.0 70.0(174 104 4v O+1 +6 -650 31.0 59.0| 73 5 34 V= vK -140 28.0 62.0
7 69 3#0-= *A -110 20.0 70.0(178 179 4v O+1 5 -650 31.0 59.0 4 74 4v N-3 &7 -150 19.0 71.0
65 11 34 0= ¢A -110 20.0 70.0(202 274 4y O+1 ¢ -650 31.0 59.0 (101 177 4v N-3 &T -150 19.0 71.0
72 4 2v V= .7 -110 20.0 70.0(208 268 4y O+1 5 -650 31.0 59.0108 170 4v N-3 &T -150 19.0 71.0
78 77 26 O+1 <A -110 20.0 70.0|209 267 4y O+1 +¢5 -650 31.0 59.0(208 268 4v N-3 4T -150 19.0 71.0
104 172 2v V= +Q -110 20.0 70.0(212 214 4y O+1 +¢1J -650 31.0 59.0 (209 267 4v N-3 &T -150 19.0 71.0
106 170 3+ O = aT -110 20.0 70.0(266 210 4y O+1 6 -650 31.0 59.0 212 214 4v N-3 &T -150 19.0 71.0
171 105 2v V= &T -110 20.0 70.0(271 205 4v O+1 5 -650 31.0 59.0 (202 274 34 V+1 ¢K -170 11.0 79.0
8 68 2y V+1 &T -140 9.0 81.0(280 213 4y O+1 +¢5 -650 31.0 59.0|207 269 34 V+1 ¢K -170 11.0 79.0
16 12 2v V+1 5 -140 9.0 81.0( 14 16 4vy O+2 ¢ -680 4.0 86.0| 66 12 4vDN-2 &4 -300 8.0 82.0
80 14 1v V+3 &T -170 5.0 850 66 12 4y O+2 ¢ -680 4.0 86.0 (110 168 24DV = ¥¢Q -470 6.0 84.0
211 269 3y V+1 &A -170 5.0 85.0|105 173 4y O+2 #8 -680 4.0 86.0| 10 68 34DV= ¢Q -530 3.0 87.0
107 169 44 N-2 vA -200 1.0 89.0(107 171 4y O+2 +¢J -680 4.0 86.0|215 211 34DV= ¥K -530 3.0 87.0
180 113 34DS-1 #A 200 1.0 89.0(113 115 4v O+2 ¢J -680 4.0 86.0|273 203 5vDN-4 #4 -800 0.0 90.0
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